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氏名
■ 1次不等式
1 次の 1次不等式を解きなさい。

⑴ 2x < x− 14 ⑵ 3x >= 7

⑶ 4x− 1 > 1 ⑷ 2x <= x+ 3

⑸ x− 2 > 2x+ 5 ⑹ 4x− 1 <= 2x+ 3

⑺ −x+ 5 >= 2x+ 2 ⑻ −4x− 1 > −2x+ 9

⑼ 2(x+ 1) > 0 ⑽ −3(x+ 1) + x >= 6

⑾ 4x− 2(x+ 2) < 1 ⑿ 3(x− 1) >= −2(x+ 4)

47x>−448x>−249x<−350x<=251x<=252x<=−2

プリント#24（その2）27x>=−328x>=429x>430x>=231x>−532x<−133x>334x<−335x>=−436x<=237x>238x>−339x>−
6
7
40x>=441x<−1642x>=−243x<=−

9
4
44x<=5

2
45x>346x<3

⒀ x− 5 < 2 ⒁ 4x+ 5 < 13

⒂ 4x− 9 >= 3 ⒃ 4x− 3 > 7x+ 6

⒄ 3x+ 5 > 7x+ 17 ⒅ 5x+ 2 >= 3x− 4

⒆ −4x− 3 < x+ 7 ⒇ 3x− 12 > 5x− 9

21 3x+ 1 >= x− 2 22 2 (x− 3) <= 8x

23 2 (x+ 4) > 3x+ 4 24 3− x < 2 (3x+ 5)

25 4x+ 3 > 11 26 2x− 3 <= 5x− 9



27 7x >= x− 18 28 5x+ 2 <= 8x− 10

29 2x− 3 > 5 30 10− x <= 4x

31 5x+ 11 > 2x− 4 32 10 + 7x < 2− x

33 x+ 3 > 6 34 −5x− 11 > 4

35 4x+ 7 >= 2x− 1 36 2x− 3 >= 5x− 9

37 −6x+ 9 < 2x− 7 38 5x > 2x− 9

39 −5x+ 1 < 2x+ 7 40 5x+ 3 >= 7 + 4x

21x>=−
3
2
22x>=−123x<424x>−125x>226x>=2

プリント#24（その2）1⑴x<−14⑵x>=7
3
⑶x>

1
2
⑷x<=3⑸x<−7⑹x<=2⑺x<=1⑻x<−5⑼x>−1⑽x<=−

9
2
⑾x<

5
2
⑿x>=−1⒀x<7⒁x<2⒂x>=3⒃x<−3⒄x<−3⒅x>=−3⒆x>−2⒇x<−

3
2

41 −5x− 32 + 3x > 0 42 2 (3x− 4) >= 3x− 14

43 3x− 6 >= 7x+ 3 44 7 (x− 1) <= 13− x

45 2 (x+ 1)− 1 < 5x− 8 46 2 (x+ 6) > 7x− 3

47 5x− 4 > −24 48 −3x+ 2 < 8

49 3x+ 2 > 6x+ 11 50 2x+ 3 <= 5− 2(x− 3)

51 8− (2x+ 1) >= 3(x− 1) 52 3(2x+ 3)− 4 <= 4x+ 1


